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7 Volume and Capacity (I)
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Matching :
@ 1000000mL
@ 1nL :\ + lcm’
@ 1000mL Im?
@ 1000L 1L
® 1000cm®
Bk
Complete the table :

Volume Capacity
M| 900 cm® 900 mL 0.9 L
@| 4000 cm® 4000 mL 4 L
@| 634 cn’ 634 mL 0.634 L
@| 17200cm? 7200 mL 7.2 L
®| 2500cn® 2500 mL 2.5 L
®| 5770cm® 5770 mL 5.77 L
@| 0.0081 m® 8100 mlL 8.1 L
1w’ 1000000 mL 1000 1
®| 3.2 3200000 mL 3200 L
@| 0.09 n’ 90000 mL 90 L
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Calculate with solutions : (unit: m)
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V52i= 10x10x10 Vﬁzi= 20x4x2
= 100x10 = 80x2
= 1000m? = 160m?
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Ax10x6+(8-4)x10x4 /
B 10x10x10-56x10x5 / %ﬁ§=4x10x(6—4)+8x10x4 /
Volume 5x10x10+5x10x5H Volume 8x10x6-(8-4)x10x(6-4)
= 1000-250/500+250 =240+160/80+320/480-80
= 750m? =400m?
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Volume=Base Area X Height
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Wﬂji_ 10x5x6-5x5x2 Volume 2 x8
= 300-50 = 60x8
= 250m? = 480m?
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